s Y

PDO 0%/12] 2024

S BIYIIT, Ioatwod dort SeMIIONS VIS ISoeAAED

BB $mr et Snea

i m—

2024
28 sy

5

TR, 2% (W, —1)

| [
1D |

Do Xodes : 587

rﬂbq DIOB 1 1Y% rnosdned

IR AT

SHIKARAT. (COM

8L6¥S1Le

nox eosnd : 100

Reusnd

1. =o moouma dadde ARy T3ms song, S0 vmns vgm | 10, womb S w03, OFct thedany e, §F ot personalized .20, 55",
TOOE g Wi, BREAT Jurted emm I am,0 WIT VLY, LUZ0AHY wWoIT L9008, N0IT mMYOhE
EOROLOTY, DY £.00.8T°. WIT TECHY, KO ITNCT e wrogvEr TONHTTRIHRT.

g eedod> Jpeor w8 adnoant WORAABATIIT. o> BV | 1] wy prodn w.o0.e0f. w3 Yok, LrRozass Ivnd I
ﬂ%@?m ij{&},ici)d;;d @um#mn Tobedzde mfm m’&wm_ 3*5@5 woss Jgg;‘mgm Lo, D0, 84TF, mggﬂmﬂ;
BB o oD, T e OF ade EeNmOTNDHRS. uxaz#:oéo;: HorrinorOR .

2. h.a:s-;c:ndmg; W@Q-‘bﬁg %d?s w%ﬂ%a(am ﬁm&'&fﬂ@ﬁ% 12. e?,jﬁ@rm Non_persona]ized To.a00, 07, ?Jgﬂ rud’-:u:\ﬁ,
ot OHagesy, ctRmde Ieudnvsy evgopse, CugORGY, 5t B Reeorirs Xoal, ahowty LOMCES TYEY, Lde
SN IO &3y B0 Lo, Rouogily, IS Bowdded e I, TS Gk

3. n.oo.uct. ey mden, S ImNcd BIH ded> Berd wonin ¥EehmN wichEied 0k ANOTAAS YT, T IRELL.
WR RADS  ZIEided Fedody okt encem e 2G0T, Bo8E Lt Drob L.00.4TF. LT EabE Srogbons
Mﬂhw“:ﬁg o ey ﬁ‘ﬁ‘ﬂaci‘od .0, 808, 3T dontzenrmn.

BRohO, IOLHT el Bedeh T3l of
Tdcotag Yy, 2 PAFLESERE MDD | 13, oo daeer (o m) A, 0 0F o ST X T,
v =

4 o, Tnens RRE OB A, 14. oy frodn Seyod ciRgide IeudngR) wocpaty wosE

5. OO, LOMOS Peoocbe oy dewoddd des . L. 20.64TF, 030 Zovobay WA0RbEem JOMEIRILH.
SOV, TP Wby ted 2Qche DIRR wdcbmomy. | 15, Toefed stomebEsy Aewbs ool rod moAd IYme

rppy—— £0.00.80°. 03T TYobY, B e R SREPTR K.

TODEHFDD O FWQIT 1.20.80°. 0IT YDA I

2140|5193 [2]73[F S sidblaocd O byt oRY, SRR
. 8038

6. & ZFT3dao 100 FFnva weteordddd. P 3adnod 80 o a
4 solyvry werteonthyd. QRIS salyivg wom HooRE 16. @oeg =g Iozo HODeEHOOT LoTBT WFS T w2090
UZOT £.00.680°. 030 BWODQ, OB NG, tomd Hed 8 030 movod (candidate copy) 3chay wod el
boﬁﬁ‘w 635?‘ Teoing wg’drfodod:ocb Qe mornd dshr TELRERcn  Weemmasen ﬁCD'é’umdmﬁvﬁm mﬁ; sodrensy
SR, ITIT WITIT TOBD Ine. T3 JIR WY deme odRgyde OO, muHEaTey 1Ty, It wdle I,ach
Saeh w!dd!d.lﬁ&!’ ucﬁ% Snade. Lo Hed z..om;os ﬂgﬂiﬁ Dot agdes. SHIKARAT.COM
CUBONVED oTtdaa’ (rho®) SRREY, ¥ WUV vroghdord |17, ux foImn Ny TIHydab dedong Reodoend.
ToresReRoR. FIHIeow aNed S wnASdoe e cdRFEe SedcDd

7. BErd s TR wor, S0ER IO, FE oAb rOTHB AREIRTY,
ciRsyte HYTV GPmodone, dFce MeoSomTe, e OMMD |18, yay wacien agReLS dod ¢
:;’I;A ""‘"“‘;2:2- e T L T T s ——

8. oy m;gu;waq AR LONREINS B ed t.90.80". €usT ) 2 23N wgomp meg sayeRy demeend. I3 I
T oed B0 ¥ B0 LREATRANON! BRNG, TR, TOW St oo 35), by Redeiq, o S ATDRANeNS Lol
okl * Y (0+25) oay, wosnvay Dods ATEY, SahoRrRmD.

9. oygrao 3=y personalized w.oo.wer. wgg mYhY (i) oorom nomd 3R ooy By, wIoTRY ReBTY,
00, BETa §erd Torts MR detor §5; Lortry, $EUY, Loth uFTY FoaRritnits XE SoRy W), w0yl
00, BTN 2, 83,8 B erfos> Lot SoLIEE DUSHALEAYIED. SO0 TONCERSROFYR.  wyd. ded sarcodade o
Wt e 35,7 FOmOLIOnE, 94 r oo ok B rdah s oo BY coaT, DR,
evRiclachiebsyd SOLOBT Wi, Foued B3I Neam. ROOFY (i) egpron cngde TIM wIond wmo wyY, voud
YPFOD L.00.00°. Y0ET YLD Tob It B iud o wITRW,  wEdng, ¢ IIR cnde Sonwiy
B erdanle oy SRR FORMXCOHR. DPARILHO,

M "SRad deaoh S or Leeaneo, RIFF UMD, 0%, STV 9T 38 adnpr/ s steEs )
L LTECHNYE) TOE wITw wint SDIYTE) NIRRT, |
— — —— i — —— —————— —— — — — . . . s ——— e e —— ]
Note: English version of the instructions is printed on the back cover of this booklet,
i =

/587-B

www.shikarat.com

TN A T

T



1. D TowohsF® Towodamoed s 3. zoaoess e IX-B 83 #gson

BIEOR TeVENYRY TOdeOY : SRPTE, FoWoRAT?
(A) edex 243B, owwodsny (1) sPozynd
DS,

(2) A@EC Toried

(B) os0des 243A, m,s> T,
" VA (3) wmmeds ¥ wEs

=pd L] -
(C) esoe 243K, zoweodzrien T,0eBneo

WOTOTT.
(4) =ozzocdoZ’

(D)  esmndem 243N, weeins Qoexene.
4. TTFuT TOWROHT T WRICLIT

& IFR eRDT wod%n‘@ocs xooinT 1868¢ JFOHT  WEWT VWG
mgdmaﬂ% =308 GaleliplevetlovelU 2~ToBrA] E‘%O.’DQ
TENTORT)?

(1) (A) =03 (B) =»3, 300063
Eﬁ (A) wTBeen, B 33 ToWe TS
2) (B) =03 (C) =ns, Roowss =«
(B) moaoees [edd XITWoRmD [ OWe

(3) (A), (B) &2 (C) =08, MooW0S - R

(4) O3 SR RO (C) g o= §rood motoe 3203

(D) =o&ms; Aoue T3
2. MmF TR RTTNWD,

T, TT TOB umw%amﬂag{ TOLTOIT éesifi;r;a aeﬁzc’bé e:sob&n@ozs pfelenirtat
cIns eRORAWOY, FedTONT? oS TD G0k
(1) (A), (€ =% (D) ==
Xed -
(1) ooe3se S50 ok L,

(2) wowgde eROTRW 2) (A) B (D) =53, Hocnd

(3) TISe xRl (3) (A) SR (C) =w3, ocdnnES
(4) a;ir:qcz:faﬁe oxRwd (4) RoedT 2QFp TOIRNS
/587-B (2) [Continued]

www.shikarat.com



1. Consider the following 3. Part IX-B of the Constitution

statements related to Gram deals with
Panchayat :

. (1) Municipalities
(A) Article 243B, Constitution

of Panchayats. (2) Co-operative societies
(B) Article 243A, Gram Sabha. (3) The Scheduled and Tribal
Areas

(C) Article 243K, Elections to
the Panchayats. (4) Panchayat

(D) Article 243N, Reservation of

seats. 4. Which are the standing
committees in Zilla Panchayat
Choose the correct answer from as per Section 186 of Karnataka
the options given below : Panchayati Raj act?
(=%

£ i .
(1) Only (A) and (B) are correct @ A :‘;f;?ng ::r:m ittﬁ:caﬁon

2) Only (B) and (C t
(2) y (B) (C) are correc (B) Rural water supply

(3) Only (A), (B) and (C) are standing committee

t
correc (C) Agriculture and industry

(4) All are correct standing committee

(D) General standing
2. Powers, authority and committee

responsibilities of Panchayats
have been included in which Choose the correct answer from
Schedule of the Indian the options given below :
Constitution?

(1) (A), (C) and (D) are only
(1) Eighth Schedule correct
(2) Ninth Schedule (2) (A) and (D) are only correct
(3) Tenth Schedule (3) (A) and (C) are only correct
(4) Eleventh Schedule (4) All the above are correct

/587-B ' (3) [Tumover)
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5. Match List—I with List—II
related to Karnataka State

Finance Commissions and their
Chairmen.

List—I List—II

State Finance Chairman
Commission

A. First State Finance 1. K. P.
Commission Surendranath

B. Second State II. Dr. G.

Finance Thimmaiah III%:?
.. * Faval !
Commission Ol'an
C. Third State HL.'C. G,
Finance Chinnaswamy
Commission

D. Fourth State = IV.A. G. Kodgi
Finance
Commission

Choose the correct answer from
the options given below :

A B C D
(1) m v I I
(2) 1 I v I
@ . E  moW

4) v I II |
/587-B (5)

6.

7.

Consider the following

statements :

(A) The Clean Plant Programme
aims to enhance the quality
and productivity of fruit
crops across the country.

(B) The programme will be
implemented by the
National Horticulture Board
in collaboration with the
Indian Council of Agricultural
Research (ICAR).

(C) Cabinet has approved the
Clean Plant Programme
under the Mission for
integrated Development of
Horticulture.

Which of the above statements

are correct?

(1) (A) and (C) only

(2) (B) and (C) only

(3) (A) and (B) only

(4) All (A), (B) and (C)

Which of the following are the
objectives of Jal Jeevan Mission
(JIM)?

(A) To provide FHTC to every
rural household.

(B) To provide FHTC to schools,
Anganwadi, GP building,
Health centres.

(C) To provide technical support
to all urban local bodies in
water supply schemes.

(D) To provide Revenue Osmosis
(RO) plant to all Gram
Panchayat.

Choose the correct answer from

the options given below :

(1) Only (A) is correct

(2) Only (A) and (B) are correct

(3) Only (A) and (D) are correct

(4) Only (A), (C) and (D) are
correct

[Turn over]
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(C) 22,7,

(1) (A) =% (B) =»3,
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(1) 2002
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8. Which

of  the following
committees recommended three-

tire structure of Panchayat
System in India?

(1) Ashok Mehta Committee
(2) G. V. K. Rao Committee
(3) Balwant Rai Mehta
Committee
(4) Dhar Committee
. Consider the following

statements related to Revamped
Rashtriya Gram Swaraj Abhiyan
(R-RGSA)

(A) R-RGSA is a centrally
sponsored scheme.

(B) R-RGSA was launched. in
the year 2022.

(C) This scheme aims at
localization of sustainable
development goals.

(D) The ratio of 60 : 40 is the

funding pattern shared
between Central and all
States in India.

How many of the above
statements is/are correct?

(1) Only one
(2) Only two
(3) Only three
(4) All four

/587-B

[]gtl
o2 ]

(7)

10. Consider

11.

the following
statements about e-waste :

(A) As per MEITY, Bengaluru is
the one of the largest e-
waste generating cities in
India.

(B) E-Waste (Management)
Rules, 2022 provides for
Extended Producer
Responsibility (EPR) for the
producers of electrical or
electronic equipment.

(C) Ninety-five percent of the
e-waste in India is being
recycled in formal units
and five percent of the
e-waste volume is handled
in the non-formal sector.

Which of the above statements
are correct?

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (C) only
(4) (A), (B) and (C)
Karnataka Local Fund

‘Authorities Fiscal Responsibility

Act, was introduced in the year

(1) 2002
(2) 2007
(3) 2003
(4) 2012

[Turn over]
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12. Consider the following 15.
statements in relation to
Swamitva Scheme :

(A) It was nation-wide
launched in 2020.

(B) It is centrally sector
scheme.

(C) It is one of the initiatives
towards Atmanirbhar
Bharat.

(D) Swamitva scheme won the
National Awards for
e-Governance 2023 and 16.
Digitech award 2022.

How many of the above

statements is/are correct?

(1) Only one

(2) Only two

(3) Only three

(4) All four

13. Which of the following are
included in Eleventh Schedule
of the Indian Constitution (i.e.
Article 243G)?

(A) Implementation of land
reforms

(B) Non-conventional energy
sources

(C) Cultural activities

(D) Maintenance of community
asset

Choose the correct answer from 17.

the options given below :

(1) All are correct

(2) Only (A), (B) and (C) are
correct

(3) Only (B), (C) and (D) are
correct

(4) Only (B) and (D) are correct

14. The PESA Act of 1996 is
(1) self-rule for economically
: sensitive population - .
(2) self-rule for population in

spe(:if-lc areas _

(3) self-rule for tribal
population

(4) None of the above

/587-B (9D
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B-1

What is the name of the portal of
Karnataka Grama Panchayat that
provides a forum for information
to the public regarding any
aspect of Panchayati Raj?

(1) Pancha Hasta

(2) Pancha Sahaya
(3) Pancha Marga
(4) Pancha Mitra

Which of the following terms of
references was not given to the
3rd State Finance Commission of
Karnataka for recommendations
with regard to financial conditions
of local self- government bodies
in Karnataka?

(1) Providing grants-in-aid
from consolidated funds
Determination of imposing
& collecting of taxes and fees

Improvement of financial
conditions of local self-govt.
bodies

Restructuring of local self-
govt. bodies for their
efficiencies

(2)

(3)

(4)

Which of the following statements
is/are incorrect about the Kolar
leaf-nosed bat (Hipposideros
hypophyllus)?

(A) It is classified as ‘Critically
endangered’ by IUCN Red
list.

The Kolar leaf-nosed bat is
protected under the Indian
Wwildlife Protection Act, 1972.

(B)

(1) (A) only
(2) (B) only
(3) Both (A) and (B)
(4) Neither (A) nor (B)
[Turn over)
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BeTTAIR, ok IREIRHLIOY,
w_)éo&ram Q0TI PFI0 neig =z
WERTX, VTOL, 20T T 20T
aoﬁ:ﬂ TREEROET, N3 VXN BT,

S~
\.Juv-

@dcmfg s-ﬂ*‘ InaRR0ETLS
a’amj@r'mf -vOSLj oD, R
z&e@m@@ e:s**:Lﬁ IREERI/TST 833
mdzcm’g‘ 'Ca"oa B SpltAnlel [ofa]
ST, QFNY ?u‘os‘jéodasi.l FORSLICO:
(1) 15

(2) 25

(3) 20

(4) 40
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18. A

19.

20,

portal that provides
information and services related
to various Government schemes
and programs of Karnataka is
(1) e-Kannada

(2) e-Sahamathi

(3) Mahiti Kanaja

(4) e-Information

Study the following information

carefully and answer the given
queStlon : SHIKARAT.COM

There are total 840 employees
(male + female) in company
XYZ’. There are two types of
categories married and
unmarried employees. 120 male
employees are married which is
30% of total male (married +
unmarried) employees.
Difference between number of
male and female employees who
are unmarried is 180. What is
the difference between number
of employees who are married
(male + female) and unmarried
(male + female)?

(1) 100 o
(2) 90 E-:l
(3) 60 N
(4) 80

Which among the following
softwares facilitates monitoring
of wuniversal access to TB
patients data by all concerned?

(1) KAREXPERT

(2) NIKSHAY

(3) EZOVION

(4) THAT
/587-B

(1)

21.

22,

Statements :

Some hangers are cloths.
All cloths are drawers.
Some drawers are almirahs.

Conclusions :

I. Some drawers are not
cloths.

II. Some hangers are not
almirahs.

(1) Only conclusion I follows
(2) Only conclusion II follows

(3) Both conclusions I and II
follow

(4) Neither conclusion I nor II
follows

In a class of 40 students, 20
have chosen Mathematics, 15
have chosen Mathematics but
not Biology. If every student has
chosen either Mathematics or
Biology or both. Find the
number of students who choose
both Mathematics and Biology,
and the number of students who

choose  Biology but not
Mathematics.

(1) 15

(2) 25 @
il 40
(4) 40

[Turn over]
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25. 1.0 BT, 5 MOLINTR, TITT TOLT
. Bl i

HNS  [obvl AN, QT D330, DaF BROSRY YRR =3

Qoeoey FobAT 10 S[REA 33 5 eagse ﬁ@@ﬂ; 8 nosingd, LoRTOMS,

TRNY 20OT LT [ODAT 283, T, moBs Senwy) noedn 45 .8,
~ &
BR3P 94  [RFAVOIZ.  Oe SNGT, ©nt DoSTIT REOTQ, TR

23. 7 IRFNS 0T, 0eTHY WO, LoeToY

HeToPNo8 6 WRF wafkd%dd, 12 wenSx?

TRNE 20T OeTed? TR ?

(1) 23 (1) 155 8.&0e./mod
(2) 14

(3) 25 (2) 1 8.0e./nots
4) 24

(3) 19'5 $.&we./mots
24. 2eRVOT WUt Beawedzsy 2014 &0
2015 T ©@QODE), 2.0 FoBICOT
O SRERT NG WA TBING (4)
Roa3, R, (VNEY) EreorITT.

14-5 3.20¢./nod

. DARTHRGR), FDTTN  FOBARTOF
Oe30Y,  JARWVT  ATRTWAI,
TOTPEFNRRPRT TLOTIN BT, TOToN
(2BOOT wed vl ZIWTY) a2
WNNYY, 8 3PFoB s MoBeBRIRD
XedzLIes0? )

Type of vehicles

2 gya
201409, ofy =ndod A % ¢ 9000154 (20)°_20=32200

W0  TTINY 2, ﬁoajes B

201589 dmed B &8 E wied (1) x, + x, —
TOBING WD), Mook SRS
SRTITH)? B o
(1) 5::7
(2)-8 11 (3) -+, 4 x, x
@) 7:9
4) "2 43 4) + -, + x
/587-B (12) [Continued]
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23. 7 years ago, Meera’s age was

24.

No. of vehicles exported
(in lakhs)

equal to Heena’s present age.
The sum of Meera’s age 10 years
from now and Heena’s age S5
years ago is 94 years. What was
Reena’s age 12 years ago, if

Reena is 6 years younger to
Heena?

(1) 23
2) 14
3) 25
(4) 24

The given Bar Graph presents
the number of different types of
vehicles (in lakhs) exported by a

company during 2014 and
2015.
W 2014
#2015

Type of vehicles

What is the ratio of the total
number of types A and C
vehicles exported in 2014 to the
total number of types B and E
vehicles exported in 20157

(1) 5:7 %
11 i

(2) 8 :
3 7:9
4) 2:3
/587-B

(13)

25.

26.

A man rows a certain distance
downstream in 5 hours and back
to the same point in 8 hours. If
the speed of the stream is
4-5 km/hr, then what is the

speed of the man in still
water?

(1) 155 km/hr

(2) 1 km/hr

(3) 195 km/hr

(4) 145 km/hr

Which of the following symbols
should be placed in the blank
spaces, respectively (in the same
order from left to right) in order
to complete the given expression
in such a manner that makes

the expressions definitely
true?

3000 __15__4_ (20)2__ 20 =32200
(1) %, & ¥, ~
(2) =+, x, x, +

[Turn over]
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27. What does the term ‘Fiscal 29. Match the Reforms with their
Deficit’ mean?

Impacts.
(1) The excess of total revenue Reform Impact
over total expenditure
A. Goods and I. Increased
(2) The excess of total Services Tax foreign
expenditure over total (GST) investments

revenue

B. Disinvestment II. Simplified
(3) The difference between .

tax structure
Gross Domestic Product
(GDP) and Gross National C. Foreign Direct III. Reduced
Product (GNP) Investment (FDI)  fiscal deficit
(4) The total borrowings of the D. Economic IV. Improved
Government Liberalization efficiency
and
28. Match the Articles with their competition
Provisions.
Choose the correct answer from
Article Provision the options given below :
A. Article 14 I. Right to Freedom A B C D
B. Article 19 II. Right to Equality (1) 1 m I v
C. Article 21 1. Right to 20 Iv I I I
Constitutional
Remedies (3) Im I v I
D. Article 32 IV. Protection of Life 4) I AR [I
and Personal
Liberty
30. Which of the following was not
Choose the correct answer from ] a part of the economic reforms
the options given below : introduced in India in 1991?
A Be G~ (1) Deregulation of industries

(1) 1 L (2) Nationalization of banks

(2) M (3) Reduction in import tariffs
(3) 1 \Y I 11 :

(4) Devaluation of the Indian
(4) IV 11 I 11 Rupee

/587-B (15)
www.shikarat.com
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.,.»
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32. IR QTR BeeINIY QeSS
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59089 (R) 2050 Seroer SnEoNS. 390
QeBRTLT  BORNPOT XY QUBTBIY
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@oﬁ%&ﬂ.}a@ z N
34. 3 FWNSINYY, TNIT LT, RewD
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(Bonfsg) oW WX OB WO

*mmasa R0 TWRBWLO

e ﬁmep’“mm © (1) 83 T I, ETE =o2 oL

w00 (R) @ npredodoornt Fo08E ort P S = gﬁ!]'

S BIIT  FoITB S{otIaply!
3penEodn BeTrs S0 DeBITE.

(1) (A) =% (R) neTRER dw R (2) =FT, ey weammp HF
(R) (A) o RO0IRT =T =3
~30BSRNG.

(2) (A) == (R) ne¥o@e o Eintel
(A) o RooIRT (3) ROgI wenmmo, Ygesw W
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,JE”'J" o,

(3) (A) 7e T8 (R) A
(4) (A) ¥, scd (R) &% (4) 0097 ctngymn we
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31. Which of the following programs

32.

is specifically designed to
promote self-employment and
entrepreneurship in

areas?

(1)

rural

National Rural Employment

Guarantee Scheme
(NREGS)

(2) Deen Dayal Upadhyaya
Grameen Kaushalya Yojana
(DDU-GKY)

(3) Integrated Child
Development Services

(ICDS) Program

(4) Rural Development Fund

(RDF)

Given below are two statements,
one labelled as Assertion (A)
and the other labelled as
Reason (R). Select your answer
from the options given below :

Assertion (A) The Janani
Suraksha Yojana (JSY) is
designed to reduce maternal
and infant mortality rates.

Reason (R) The scheme
provides financial assistance for
safe delivery and postnatal care
to pregnant women.

(1) Both (A) and (R) are true
and (R) is the correct
explanation of (A)

Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(2)

(3)
(4)

(A) is true but (R) is false
(A) is false but (R) is true

/587-B

g

(17)

B

33.

34.

In which districts of Karnataka
are large-scale of limestone
deposits found?

(1) Kolar, Mandya and Kodugu

(2) Vijayapura, Bagalkot and
Shivamogga

(3) Dharwad, Tumkur and
Hassan

None of the above

(4)

Which of the following are

components of Human

Development Index?

(1) Infant mortality  rate,
literacy and life expectancy

(2) Literacy, Life expectancy
and death rate

(3) Life expectancy, educational
attainment and standard of
living

(4) None of the above

[Turn over]
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35. 83 dvsorm ﬁe%ﬁ#aﬁi TOdedy, :

A.

PRUES TYRT IO Womd
PEDSTOT.

DTSR FeBE DDIBDODH Wod
STOmWY T, Be3TYS.
WROIT W RIWOCH  omd

mﬁw Q) eTT.

tARTer:Ta] enzgtf &g&aodo 2000
VWU TYT.

B IR R e:soéaﬁr‘:@ocs psfelebirtat
mgdﬁﬁa Dy

(1)
(2)
(3)

(4)

WOTD TewE TN, TOIRAT
QTR TeYBNR W3, BOCTPNS
FoRTO TeYENTL WS, FOOTINS

DY TeLENY R BOCIRAT

36. IRz mzsﬁrwb %mga =0 edT mo;ﬁg&
#émgﬁ‘?

(1)

(2)

(3)

(4)

/587-13
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(IR)

37. 39N EpeRNYTY, TONEA ¢

& pa0ets0* — famw“i%@?:ﬂﬁfs;s
O, Yoty

A.

B. ©EAW0 — TRYOD Serys,

BY0 .",‘\,\ga-l
-

C ':ﬁé ﬁ.@xf@?&&ﬁ —> -"l—ms&—a
i (-5
Ce@odedTezy,
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8 3R T #CNToT ToinG
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(1) oTL HreR T:?I, TOCHRAT
(2) TR BeeRrsd IR, ORI
(B) =oedd Freansd TR, TOcIRAS

(4) Soedz QR Hee@nge IocknAE

» WWUITY, I9ec momng  (IST)I
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35. Consider

the following

statements :

A. Western most point of India

is situated in Rajasthan.

B. [Eastern most point of India
is situated in Arunachal
Pradesh.

C. Southern most point of India
is situated in Lakshadweep.

D. Northern most point of

India is situated in Ladakh.

Choose the correct answer from
the options given below :

(1) Only one statement is
correct

(2) Only two statements are
correct

(3) Only three statements are
correct

(4) All the statements are
correct

. Which States share Krishna

River water?

(1) Maharashtra, Karnataka
and Gujarat

(2) Maharashtra, Andhra
Pradesh and Tamil Nadu

(3) Maharashtra, Karnataka
and Andhra Pradesh

(4) None of the above

/1587-8B

(19)

37. Consider the following pairs :

38.

A. Lysimeter —» Measures
evapotranspiration
B. Anemometer — Measures
wind speed
C. Actinometer —» Measures
solar radiation
D. Manometer —» Measures

pressure of gas

Choose the correct answer from
the options given below :

(1) Only one pair is correct

(2) Only two pairs are correct
(3) Only three pairs are correct
(4) All the above pairs are

correct

When there is 12 noon in India
at IST meridian, people in
another place of the earth are
having their 6 o’clock morning
coffee. The longitude of that
place is

(1) 7 degree 30 minutes East

(2) 172 degree 30 minutes
West

(3) 82 degree 30 minutes East

(4) 7 degree 30 minutes West

[Turn over]
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39. T,303003 YPRBOTS BSNYY CRFHTO
B 08 LFTTOERNGE?
(1) P
(2) S

SHIKARAT.COM

[3) L Online Education
(4) RO cPBe ©o

40. 35 IINIPINLS), oD  TOROH
QDT to¥nts) alolelect nowo
S, 0geeneon:s?

0= g

(1) oo &by (Meander) = [E
(2) &eaex® (Lapies)
(3) pedx® (Paljes)
(4) ®=eo (Horn)

41. = FATZYNYY, CINYTO WFFoD Tona
T, T T TN
(1) =0 I me® (Canary current)
(2) emwmo' Hme® (Labrador

current)
(3) erhee T,wex  (Benguela
current)
(4) nf A (Gulf stream)
/587-B | (20)

42.

43.

44.

= FINTHNTE, SR
nplesseinblolfhal 8, 03 3N
TTTTOINTI?

(1) =&eexy recy (Stratosphere)
(2) =gRecd (Mesosphere)

(3) =owzrm neey (Troposphere)

\ney (Thermosphere)

.l

e g
"Jm}_l@wzw

TONOT 20T YT ToNT

e, acm  (Flat Toppedi

mv‘m&'}oﬂ: u&.r'ww > to [

ﬁdcd:e:ahzﬁ.

(1) =om39c Sunse (Abyssal
hills)

(2) =ono oTIFNTL (Ocean
trenches)

(3) ==0T, TRFINEL (Sea mounts)

(4) nodrew® (Guyots)

& NS B IRWIRYY, AR
Teten mcoz;rmom VeROITI?

(1) 3% (Chinook)

(2) Feew, (Foehn)
(3) wweeoo (Bora)
(4) ®SFus® (Harmattan)

[Continued]
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39. WI"liCh one of the following 42. Which one of the following is
seismic waves is most the lower most layer of the
destructive? atmosphere?

(1) Pp (1) Stratosphere
(2) S (2) Mesosphere
3) L (3) Troposphere
(4) None of the above (4) Thermosphere
40. Which one of the following 43. Flat-Topped  volcanic  hills

depositional features is made

submerged under ocean water
by running water?

@t oM are called
en\eR EXE
(1) Meander ﬁiﬁ (1) Abyssal hills
(2) Lapies (2) Ocean trenches
(3) Paljes (3) Sea mounts
(4) Horn (4) Guyots
41. Which one of the following is 44. Which one of the following local
warm ocean current? winds is blown in Sahara Desert?
(1) Canary current (1) Chinook
(2) Labrador current (2) Foehn
(3) Benguela current (3) Bora
(4) Gulf stream (4) Harmattan
/587-B (21)
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45.

46.

1587-B

3 Se50r neanyd) cINFR RO
BRODEIRMTS?

A 3uEQ SIReD BPoInom, -
B0

B. Xm0, S Re ©iodnss, -
gneent

C. *55’”3“@ T LPoIRTE, —
WO
)

D. zimehméﬁz I, ejt;fowadsaé -
non

3 PR ez e:sodaéﬁ@ozﬁ pfalenirinl
emrédﬁﬁgt =02

(1) A =03 B R0o0innas
(2) A, B &3 C R00inna
(3) B & C Rocinns
(4) C 3 D zocinnas

TR, WBY TO0 SO & 950
cing RRTood Ine TR (B, Je)
=, :%ﬁe:abq CRAE?

(1) =g 2Rso
(2) =Snmeosd B

(3} esurador §,d0r Ja33

i

(22)

. PT -2 -mwod e

47. 339N S R’/ ERelned Xownn

BRoOBIRMOZT 57

A B, 3BT — Omea’

B. 0 34 — wog, I,0e3

C. ®oom, 338 — LoomBe T8y
D. ®#pe@c® Fdd — wWSTlon

g YR R0 Bcfa%ﬁ@sd p{olowd ol at
UD%UESFJ’.E{ =03

(1) ZOCIRNT

WOT TBrRoDE TRT,

s
, mOCSRNT

(2) TR BRI TRT,

(3) =oew AR Ta0S SRE
ROCIRA
(4) ooy Becldnde XOCIRAS

(1) o ARon,TT DRUTRHT

AROT, ek
(2) 2@ 3RQ Ry o

AR0T, BecdR
(B) Tarols  eQobmy A

LIoJevtolotaly
(4) o  Aswawsy 0 o6

3 dnodrt
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45. Which of the following pairs are
correctly matched?
A. Shettihalli Wildlife
Sanctuary — Shivamogga
B.  Kammasandra Wildlife
Sanctuary — Kolar
C. Kappatagudda wildlife
Sanctuary — Ballari
D. Jogimatti Wildlife
Sanctuary — Gadag
Choose the correct answer from
the options given below :
(1) A and B are correct
(2) A, B and C are correct
(3) B and C are correct
(4) C and D are correct
46. Manjra and Karanja rivers form
which one of the following
drainage systems? f’—ﬂﬁ
[ et
fei
(1) Dendritic pattern S Al
(2) Parallel system
(3) Obsequent drainage system
(4) Radial drainage pattern
/587-B (23)

47.

48.

Which of the following pairs is/
are correctly matched?

A. Nubra valley — Ladakh
B. Araku valley — Andhra
Pradesh
C. Kangra valley — Arunachal
Pradesh
D. Johar valley —
Uttarakhand

Choose the correct answer from
the options given below :

(1)

Only one match is correct

two matches

(2) Only

correct

are

(3)

Only three matches are
correct

(4) All the matches are correct

Strait of Bab-el-Mandeb
connects which of the following?

(1) Red Sea with
Mediterranean Sea

(2) Gulf of Aden with Arabian
Sea

(3) Persian Gulf with Gulf of

Oman

(4) Red Sea with Gulf of Aden

[Turn over]
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Sslowtpiaiove] @ewa SOcIRNE?
A. 03 wmﬁk‘bﬁé‘; IdT 45%¢
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51. oo ISnusiRdn BRI C. ox3e yoodechad |rdRTINR
ooy WRodE B30I, Ger 23 (FIDE) 93 1353 t20000T
{efevelopraecial CHIOH :
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(1) 20w Jewd SN, FOOINNAT
(2) =oesTED (Assimilation)
(2) QOB Bewdnsd ENVEEC XOodRNES
(3) =®zom (Diffusion) (3) e TBeednsd @nS, JOoIRNE

(4) &8%3 (Evolution) (4) DO R Beedodan FooIRN,
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49. India is divided into how many

52. Who among the following Indian
Agro-climatic regions?

sociologists wrote extensively on

the Indian Middle Class™

(1) 15 (1) A. R. Desai

2) 13 (2) Binoy Kumar Sarkar
(3) D. P. Mukherjee

) 14 (4) G. S. Ghurye

(4) 10 ) )

53. Consider the following

statements :

50. Which one of the following is A. India won gold in open as
the largest peninsular river? well as Women'’s events at

the 45th Chess Olympiad
(1] Krishna in Budapest.
B. FIDE World Chess
(2) Narmada Championship .Match
(Cycle 2023-2024) is held
between D Gukesh and
(3) Godavari Magnus Carlsen.
C. No Indian has ever been
(4) Son FIDE World Chess
Champion.

51. The process of fusing of minority How Inan3.r of the above
groups into the dominant statements is/are correct?
society 18 termed as (1) Only one statement is

correct
(1) Acculturation
(2) Only two statements are
correct
(2) Assimilation
(3) All three statements are
_ correct
(3) Diffusion
(4) None of the above
(4) Evolution statements is correct
/587-8B (25) [Turn over]
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54. 30T ons SeDBI Iy BROJRoOA

ONEReRT g}ér{@m&ﬂ momﬁmm@d?

(A) 8. o=, sTRdR — PO3TE,
TS [ Borvow (Marriage
and family in India)

(B) . %, o3, — O3
mIOAND =R r;ors‘)aﬁm

(Races and Cultures of
India)

(C) =,=°WBH* I — Mo, yaos
(Village India)

(D) Ro83F [,00308°F — PTSTY,
TgRowoR E%ﬁh; (Kinship
Organisation in India)

(E) @ <FF. 3308 — ooded
IRREDRFG, ARODAD TR

o

%%ﬁmﬁﬂ% (Themes and
Perspectives in  Indian
Sociology)

(1) (A), (C) =02 (E)

(2) (A), (B) &% (E)

(3) (4), (B) == (C)

(4) (B), (€) % (E)

/587-B

(26)

. WOTWTD
(-5

55, 898 QOB BeeBnIS) BN,

20038, BT (A) =0 f&é@pcﬁ;&i
5313 (R) 20030 Se0T* TRBONG. i
DeRTos  Bodven DR UUSTRRY
$03[RA

B 3mmud (A) : U3TOR F 05 3odn
BOFE BISHRR T R00 BBWEERNG.

502 (R) : ROBTOR QNG F0%, 3n9oT
woow  ORF, Tagersndd [0
selnedsng, TR e@mpﬁm, E-fon)

T, 5000 =B xm:&irw Tomaonen
FOOEITONLTIT.

(1) (A) 2 (R) 2032 50 X (R)
Q000 (A) oL FOcRT
QWTBIRNT

(2) (A) = (R) <0@e 0 <3
(R), (A) o ROIRT INTH B,

(3) (A) %0 33 (R) 3%)

(4) (A) 3z 933 (R) %0

o, 0003 T, 300008 =
FINITOQ, 3T LRIBTY womsrien
B3, 330 Qe3CDF) T, STRATH?
(1) 3= §9

(2) 0. OFF. 8edmx

(3) HocHo 2O

(4) 2 o, 35,

[Continued]
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54. Which of the following authors

match with the works attached
to their names?

(A)

(B)

(©)

(D)

(E)

(1)

(2)

(3)

(4)
1587-B

K. M. Kapadia — Marriage

and family in India

G. S. Ghurye — Races and
Cultures of India

Shyama Charan Dube —
Village India
(=%
E .
(=]
McKim Marriott — Kinship
Organisation in India

=

D. N. Dhanagare — Themes
and Perspectives in Indian
Sociology

(A), (C) and (E)

(A), (B) and (E)

(A), (B) and (C)

(B), (€) and (E)

(27)

55. Given below are two statements,

56.

one labelled as Assertion (A)
and the other labelled as
Reason (R). Select your answer
from the options given below :

Assertion (A) : The diversity in
India has been a major hurdle
for economic growth.

Reason (R) - Different
perspectives and ideas from
various cultures in India can
lead to new inventions, art forms
and solutions to problems.

(1) Both (A) and (R) are true
and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

In view of tribal welfare, who
among the following advocated
the policy of isolation for the
tribals in India?

(1) Kenneth Bailey

(2) M. N. Srinivas
(3) Verrier Elwin
(4)

G. S. Ghurye
[Turn over]
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57. I—I Se—II drodnt BeodA : 59.
dehoney, 195 IIBRT) FOIRT
B —I T —II FePRB,Ro3FODG, 2T
LRRADToN m@&ﬁmd nfaf (A) = 35 derss BER
A. TR T LR 1. 1976
(B) wodF RmH
B. &oTe wIoelwes II. 1961
OV (C) oomYT 0T
C. Eﬁﬁdﬁ?g AR M. 1955 (D) WFFD ISHE
SBRICRTO
D A o> IV. 1956 g3 3R BT ToFeBINeoT BVOWRT
IR R B ' ugomRy B0k TR -
2 39 BT TodeSneon TOoINRT
BT, B0, IRB (1) (D), (A), (B) == (C)
A B C D (2) (A), (B), (C) =3 (D)
CEACH
1) m Iv I I 3
H 2E (3) (C), (A), (D) == (B)
2 1 0 m NV
(4) (B), (C), (A) =5 (D)
3) v I o I
(4) I I I v 60. ‘23z’ W) WBOTY), I, AWNL
00Y  PBedd  TOIONYE, CRRTY
58. o #YSoRm0S, RGO BFIFUE OF RoWoRRTNI?
T, TR 0LT, TROWT?
(1) ey, woransd
(1) B¢ cvmn® WA
(2) #=e3nso
(2) Tz =nrdetoos’ 00037230 B0*
3) roooed
(3) memAes wdocd 2] Poomsinns
(4) =BT 3¢ wmnt TIopieMn) 4) DB
/587-B (28) [Continued]
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57. Match List—I with List—II. 59. Write the correct chronological

order to the organizations (social
List—I List—II movements 19th century) in
Acts Establishment India :
year
: A) Satyashodhak Samaj
A. The Hindu Marriage 1. 1976 A) v !
Act
(B) Arya Samaj
B. The Hindu II. 1961

Succession Act (C) Ramakrishna Mission

C. The Dowry . 1955

Prohibition Act (D) Prarthana Samaj

Lt )
B THE ‘eqnal : IV. 1956 ‘E o Choose the correct answer from
Remuneration Act & [E : : "
2 the options given below :
Choose the correct answer from
the options given below : (1) (D), (A), (B) and (C)

A C D

B
(2) (A), (B), (C) and (D)
() m v O I

@2 1 O m N (3) (C), (A), (D) and (B)

3 v I o I 4) (B), (C), (A) and (D)

(4) I I I I\Y
60. Sisaha, Bahurakke, Thanuthra

58. Who among the following is the are related t?) which aspects of
recipient of Karnataka Ratna war property:
Awards?

(1) Bow, arrows
(1) Mr. Ustad Bismillah Khan

(2) Pandit Manik Rao (2) Body cover
Raichurkar
. (3) Shield
(3) Bhimsen Joshi
(4) Pandit Sri Ustad Alla Rakha (4) Sword
1587-B (29)
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61. OROOINTT OB wobmo’ 63.
T3sodn (Ayagar system) Zodo A. ©T8e8S* I 2% ecfRon oudeod
WF MIRVY, 1y, D 23D SoTosE) BODTIMEd
TBICRN).  BINT  IRT  Tevsnisd LErY FORRD
CobmOt  TEsad  OFnvR) B, wadesst Il OmOIR0 Hesownd
T, 3P OL? #3330 BOPIAT DOBT L¥F
%) AOCIRA O3S
(1) oo 8 ROReseonss ortodd wory oY S ARseoD3
QBT OPRROT THICARN? So0T FooIRFIECH
C. ugdesy I =omes® WELEY, AuRT
7908 TodufodoT TR
(2) mTEHYR IR LIOSID, - ? > -
e D. sxdess IV, w3 X $YTHY
) & ™
oY BoFRY  Tone 3 ,
» %037 20dREZOTBTR WRRF U
RNeomneng SEF ATOD ~
TRER LWRBT Word
RBRAEAWT T SOIRNE EZE @
e B E‘%ﬂ FCDFBCIT YOI
B & gunt DeEeRs TodeInoos HOIRT
[8) e FRCols TG ERTRRIRY 3osRy b IRB
- o -]
A B C D
(4) 35 DG, BAOTO BRFBH () v m I I
33y BTG R0V BoIBIT g; ; $ Ili I};’
BB MY, BNFO
~ e o 4 ¥ m m 1
wIZMN  GIo™,  Sees
=SRasod 64. ‘WIS L T RNIAT” 2022000 IR
WOB TR IFS?
(1) 3% 308, o’
62. 33BC FPGO SEORT TuB ‘QWIN0T (2) 2. 1. 0. O3
Ree0r’ss), WIBETY 0dRdO? (3) Qoo wgeor
(4) = @xF
(1) ==z 208, 65. cins mUeI 3300 Rece weor
Won$nds W0eIeD FoRWTBT?
1) o
(2)  xomoocdF (2J wogE
(2) @ =aF %m‘ 5352-'_8)?0" qj@
BOLS,eXF w* ) Roe, BFTD WOR
(3) ecd donoe S
(B) © ey
(4) TosuT=OTA, (4) T, o
(=) [Continued]
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61. During Vijayanagara period, the

Ayagar

System of exchange

developed in the self-sufficient

villages.

Which one of the

following statements does not

represent the features of Ayagar
system?

(1)

(2)

(3)

(4)

62. Who wrote

It was a system of division
of produce to be paid as
tax to the State

It was a system of exchange
of products within a village
among the tenants,
artisans and service classes

It was a part of Nayankara
system

In this system, the feudal
classes based in the village
and immediately above the
village at the level of the
Nada Gowda exploited the
Surplus of the producers

the first drama

Mitravinda Govinda in Modern
Kannada?

(1)

(2)

(3)

(4)
/587-B

Basavappa Shastri
Singaraya
Aliya Lin garaja

Venkata Ramana Shastri

63. Match the following :

A. Operation 1. To facilitate return
Sarvashakti  of Indian citizens
from Israel
B. Operation Il India’s rescue and
Kaveri humanitarian aid
mission to Turkey
and Syria after the
devastating
earthquakes
C. Operation IIl. To rescue Indian
Dost nationals stranded
in crisis-hit Sudan
D. Operation IV. A strategic initiative

I {0]
E’Ba. 3
5[m]

(31)

Ajay

64.

65.

aimed at eliminating
terrorists in Jammu
and Kashmir

Choose the correct answer from
the options given below :

(1)
(2)
(3)
(4)

A B C D

v I I I
I I II IV
I I v I

v I I I

Who is the author of the travelers
account Mission to the Mysore?

(1)
(2)
(3)
(4)

Mrs. Murray Mitchell
C. E. M. Russel
William Arthur

John Harst

In which Ancient book, the first
reference of Bangalore is seen?

(1)
(2)

(3)
(4)

Shivabharata

A Journey from Madras
through the Countries of
Mysore, Canara & Malabar

The captivity
Mudra Manjusha

[Turn over]
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66. teot, THRBOE FoworEed By YN

aSe@Gm*a% Tonedn
(A) 2Bre oo SWdOT :&m&{}w.
(B) o3edod Demoodngdd  womd

Jwoods O3S =osnen
QTTFITN RIS,

(C) ®ERFDOWT  Jaedd  Toom,

:Semq}aﬁriﬁowd T O
DO, DRF  Zesood

BB BoYFQrOR dew@aﬁ.
(D) ez comrans’ demood 83
deson ADORFTN).
3 B0edT IS Bewdnsd BORNT?
(1) (A) == (B)
(2) (B) == (C)
(3) (&), B) == (C)
(4) (A) == (D)

67. QTGS R0 SRS TWIBIN ROWOHATIOS

B BINS BePINIRY TONREIRD :
(A) B8 33U --TS[CX* N,0FEI,
(B) 88 Wogyos ©ET SHORTRY

AWFAT ToNR ITROB Bezsowodd
riﬂ;fc':'% G&Ejhd.

(C) 8%ors-2-RTOR® BOTORD Tomte
RIS oD INEIT TP
20T TORBHSNG.

(D) 858 Qoop* SoR0ToCDT ST/ TONG,
B3 F0eOT T FePrisd OoIRNI?
(1) (A) =23 (B)

(2) (C) == (D)

(3) (A) == (C)

(4) (A), (B) =235 (D)

(32)
www.shikarat.com

68, WOLOY

69.

70.

B8 BNUEEY  Louy

”Rmﬁad@eﬁsn %3 123e !SSEJJWUQ
2 ~

SRdFOIRON®. B TR oy
&

cdRRYWO?

(1) «=oBSe FNBRFS oz
(2) Bedoond “5%m@ Soee"”

‘ lwogmmmf‘:} 333, '

oy
(4) SO cINFTR ©e), gg
oM
cIn IPOR, B8 63 T Aafaeryy
W BT IRS BT, AT 23 LRANIS?

(1) o8 3 ATHOZ

(2) =T33 AT0Z

& <3y

(3) &2 ancs

@

(4) TYR0D Fom,moon

WF TP ToTmohd I 9
oAng &%ﬁw 2.0T3e "%ﬁ#dﬂ?ﬁ Jonsleds
oVt t:?eaaood:d@ﬂ BRodSN?

(1) sy m HBUBoBe8T Bemoood

(2) OTdeBeddody  Bpewm QYT
Temooady

(3) =oxnoz ﬂmeabeagud Bearoood

(4)  wRssroaos Ber sy Sess
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66.

67.

Consider the i
statements with reéﬁgmﬁg
Chalukyan Architecture :
(A) Aihole is the cradle of
Indian Architecture,

(B) The Temples at Aihole stand

as a testimony to the stages
in the evolution of a temple.

(C) The three noteworthy temples
at Aihole are the Ladhkhan
temple, Durga temple and
Huchchimalligudi temple.

(D)

Th.e. Ladhkhan temple was
originally dedicated to Lord
Shiva.

Which of the above statements
are correct?

(1) (A) and (B)

(2) (B) and (C)

(3) (A), (B) and (C)

(4) (A) and (D)

Consider the following

statements with reference to
Ibrahim Adil Shah-II :

(A) He is the author of
Kitab-e-Nauras.

(B) He had established
Navarasapura near Bijapur -
and built Narasimha
temples.

Kitab-e-Nauras has been
considered as the synthesis
of Hindustani and Dhrupad
style of music.

He was the student of
Vidwan Narasimharaya.
Which of the above statements
are correct?

(€)

(D)

(1) (A) and (B)

(2) (C) and (D)

(3) (A) and (C)

(4) (A), (B) and (D)
/1587-B

68. Chalukya ruler Jagadhekamalla

69.

(33)

70.

wrote ‘The Kavyavalokana’,
which inspired the compilation
of famous grammar work in the
12th century. Which is that
grammar book?

(1) ‘Bhashabhushana’ of
Nagavarma II

(2) ‘Sabhamanidarpana’ of
Keshiraja

(3) ‘Chandra Chudamani
Shathaka’ of Someshwara II

(4) None of the above

The distinction between the

individual soul and the supreme
‘Brahman’ has been upheld in
which of the following Philosophies?

(1) Adwaitha Philosophy

(2) Vishisthadwaitha Philosophy
(3) Dwaitha Philosophy
(4) Kalamukha Tradition

The 9 Ascetic sculptures of
Navanatha of Natha Cult are

found in which temple of

Bangalore?

(1) Jalakantheshwara temple
of Kalasipalya

(2) Virabhadra  temple of
Aralepete

(3) Someshwara temple of
Halsur

(4)

Dodda Basavanna temple of
Basavanagudi

[Turn over]
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71. w8Bemoors wBHOR BorodLEod s 73. $0%3 YO, SoLBeR0N G oNT ST

NS Bewdnvsy DO : (Bowom, ARG  FFR o)
ZIATSoveInY) 20138 BowoRAT 83 #vson
(A) 88 B weIE  ustesoon Beodnvs), TOdeON !

wdodo* @sf%m ReRTTD. (A) ¢one 30895, o028 BOVHIG
14 B 15 e o[eansh
(B) o300  edew  democbiva Seos XRNSIR  BOWoPRTI0I
ﬁbgd’odd) m&d E‘SEPQEEFG‘:&F =880 M@ms SUOJ'W

BRAT. o 0P Ta0mEOnIZT.

(B) s 002000 I50, 100 ogm
©To8 T, VTR, CNNOTOT
T303p0T0  FHEOCIL  ©oI0¥
TRTINT BRSO, TBRERNT

(C) o0 mom Ty sandons Eg
STOTVOOORF, W eTIGH, 0D,
SR0R, BOYTOROF.

(D) o@or “BRe0S oo’ 0w SNZQTOIT.
T |3, psfalews o] ::oeesas@{ eod%assa@ :

) (1) (A) =m38, %0

FoeOT TBeTINVY, ROIRT BTy, @ (B) =n3, %o
9RO (3) (A) 3 (B) 20=e 30

(1) (A) =2 (B) 4) (A) ¥z (B) cdnyce Jockey
74. ©0To%NT ISR ToWoHAT B3 39803

(2) (B) 3 (C)
BOBRTR), [OBEON :

(3) (A) == (D) ; (A) =0 30 ITFO wIRECRAIIT.
(B) RSB deesxed 03 ooy
(4) (A), (B) &= (C) QTBOoTUR BodcdRMST.
(C) 8 X3t og,0d0 sadotnnen
72. InBr CowmadF e QG0 ¥)F cdRod? UBFOQ,
- (D) =W  DORIOAL 2w
(1) o807 IRFNTONLI .
pfelobiria R:‘Oiwaisi& ejoi%maa -
(3) meErdes (4] A =% B) =83
; (3) (A) R (C) B3,
(4) SRETTODF (4) (A), (C) == (D) 38,
/587-B (34) [Continued]
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71. Consider the

sta.tements with reference to
Chikkadevaraja Wodeyar

(A) Chikkadevaraja Wodeyar
patronized art and
literatures.

(B) He constructed and

renovated many temples.

(C) The most famous poets of
his period were Thiru-
malaraya, Chikopadhyaya,
Thimmarasa, Mallikarjuna.

(D) He had the title of ‘Raja of
Mysore’.

Which of the above statements ﬁ]gﬁ]
] '_m

are correct?

(1) (A) and (B)

(2) (B) and (C) 74

(3) (A) and (D)

4) (A), (B) and (O)

72. Who is the author of
Tattvartharaja Varthika?

(1) Akalanka
(2) Pujyapad Deva Dandin

(3) Parshwadeva

(4) Madhavacharya

/587-B (35)
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following 73.

Consider the following
statements with respect to the
Sexual Harassment of Women
at Workplace (prevention,
prohibition and redressal) Act,

2013 :

(A) Sexual harassment results
in violation of the
fundamental rights of a
woman to equality under
Articles 14 and 15 of the
Constitution of India.

(B) As per the act, every office
is required to constitute
an internal complains
committee with minimum
of 100 or more employees.

Choose the correct code :
(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Consider the following with
respect to the committee on
Estimates :

(A) It consists of 30 members.

(B) The members are elected
by both the Lok Sabha and
Rajya Sabha.

(C) A Minister is not eligible for
election to this committee.

(D) The term of the committee
is five years.

Choose the correct code :
(1) (A), (B) and (C) only
(2) (A) and (B) only

(3) (A) and (C) only

(4) (A), (C) and (D) only

[Turn over]
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75. Who among the following was a

76.

pioneer of Indian archaeology?
(1) Dr. B. B. Lal

(2)
(3)
(4)

Dr. S. P. Gupta
Dr. V. D. Mishra
Dr. H. D. Sankalia

Consider
statements

the following

A. The Minerals
Partnership is a
collaboration of 14
countries and the EU to
catalyze public and private
investment in responsible
critical minerals supply

chains globally.

Security

India is one of the partners
of the Minerals Security
partnership.

The 5:9-million ton reserve
of lithium has been
discovered in Reasi district
of J&K by the Geological
Survey of India (GSI).

How many of the above
statements is/are correct?

(1) Only one statement is
correct

(2) Only two statements are
correct

(3) All three statements are
correct

(4) None  of the  above
statements is correct

/587-B

(37)

77.

78.

79.

80.

Who among the following was
the head of the special
committee formed for the

preparation of the manuscript
of the Constitution?

(1) Pt. Jawaharlal Nehru

(2) Bal Gangadhar Tilak

(3) Dr. B. R. Ambedkar

(4) Lala Lajpat Rai

Who among the following
Governor-Generals removed
restrictions imposed on the
Indian Press?

(1) Warren Hastings

(2) Lord William Bentinck

(3) Sir Charles Metcalfe

(4) Lord Minto

After the end of the Third
Carnatic War, which of the
following treaties was
concluded?

(1)
(2)
(3)
(4)

Treaty of Paris

Treaty of London

Treaty of Japan

Treaty of Aix-La-Chapelle

Which of the following is not
staff agencies of the Government
of India?

(1) Prime Minister’s Office

(2) UPSC (Union Public Service
Commission)

(3) NITI Aayog

(4) Cabinet Secretariat

[Turn over]
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(1)
(2)
(3)

(4)

TSR vOTZ,
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81. The Judicia]

A : control over 84. Which of the following is/are
administrative acts emanates true about Joint Parliamentary
from Doctrine of Committee?

(1) Rule of Law (A) It is an ad-hoc committee

(B) It consists members of both

(2) Separation of powers Houses of Parliament

(3) Judicial review ) (C) It consists 22 members
% (D) Its recommendations are
(4) Delegated Legislation (=3 mandatory for the
Government to follow
82. Constitutional Safeguards to Choose the correct answer :
civil servants are provided by (1) (A) and (B)
(1) Article 310 (2) (C) and (D)
3) (A) onl
(2) Article 315 8} (8 oy
(4) (C) only
(3) Article 312
85. Ordinance is
(4) Article 311 '
(A) executive power of the
President.
83. Which ofb th:: fol:tczmngF}:; a::z: B leglinistive: mower oF e
trus : a. o © ' President.
Commission?
(C) promulgated when
(1) It is constituted by the Parliament is not in session.
i t der Article .
l;l;)mden s (D) Article 123 of Indian the
constitution makes
(2) It defines financial relations provision for ordinance.
between Centre and States Which of the following is/are
true?
(3) First Finance Commission
was established in 1951 (1) (A), (C) and (D) only
(2) (B) only
(4) Present, 16th  Finance
Commission is chaired by (3) (A) and (B) only
N. K. Singh (4) (B), (C) and (D) only
/587-B (39)
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86. Which of the following is not
true about Ombudsman

India? in

(1) The terms Lokpal and
Lokayukta were coined by
L.M. Singhvi

(2) They have constitutional
status

(3) They are statutory bodies

(4) They inquire into
allegations of corruption
against public servant

87. Which of the following is not an
e-Governance  initiative  in
Karnataka?

(1) Mahiti Kanaja

(2) e-Kannada

(3) Kutumba

(4) Digital Karriataka
Architecture

" 88. Consider the following
statements :

A. The Global Initiative on
Digital Health (GIDH) is a
WHO Managed Network of
organizations, institutions
and Government technical
agencies actively engaged
in supporting national
digital health transformation.

B. India is not yet a member
of the Global Initiative on
Digital Health.

C. GIDH can interfere with
individual country’
sovereign laws, regulations
and initiatives to deliver
quality service to all.

Which of the above statements

is/are correct?

(1) A only

2) A and C only

(3) B and C only

(4) B only

/587-B

(41)

89. The RADAR is used by police to

90.

91.

check over-speeding vehicles
works on the principle of

(1) Raman effect

(2) Magnetic Induction effect
(3) Doppler effect

(4) Coulomb effect

Which of the following
statements are correct about
THE BHARATIYA NYAYA

SANHITA, 20237

A. It is based on the Justice

centric approach by
providing  provision  of
community service for

minor offenses.

B. It has provision related to
Terrorist Acts.

C. Marital rape is defined
under The Bharatiya Nyaya
Sanhita, 2023.

(1) A and C only
(2) B and C only
(3) A and B only
(4) All A, B and C

Which Article of the
Constitution prescribes

Amendment of Land Reform
Acts?

(1) 240
(2) 244
(3) 246
(4) 248
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92. “Modernisation

/587-B

1s the process of
Whereby less
€S acquire the

social change
developed Societi
characteristics Common to more

developed Societies”. — Who
gave this definition?

(1) Rutow and Ward

(2) Daniel Lerner
(3) M.N. Srinivas
(4) Parsons

93. Which of the following options

correctly describes the recent
Supreme Court Judgment in
M. K. Ranjitsinh & Ors. vs. Union
of India & Ors. case?

Decriminalization
Section 377

(1) of

(2) People have a fundamental
right to be free the adverse

effects of climate change

The right to privacy is an
integral part of the right to
life and personal liberty
under Article 21 of the
Constitution of India

(3)

The doctrine of essential
religious practices was
invented

(4)

94. Identify the tribal groups that

=
= |
=1

&

(43)

live in Karnataka.
(A)
(B) Iruliga
(C) Soliga
(D) Siddi

Select the correct answer from
the options given below :

(1) (A), (B) and (C)
(2) (B), (C) and (D)
(3) (D), (B) and (A)
(4) (A), (C) and (D)

Baiga

. Paint spray gun works on the
principle of
(1) Boyle
(2) Faraday
(3) Bernoulli
(4) Archimedes

. Which  of the following
statements is correctly related
to Yuvanidhi’ Scheme

introduced by Government of
Karnataka?

(1) To provide ¥3,000 monthly

assistances for unemployed
degree holders

(2) To provide 1,500 monthly
assistances for unemployed

diploma holders

(3) Candidates should have
graduated in the academic
year 2022-23 and should

be residents of Karnataka
(4) All of the above
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97. Which of ¢
took
Panchayatj Raj,
of the recommen
Mehta Committee?

(A)

(B)

(©)

ot he following States

CPS  to  revitalise
keeping in view
dation of Ashok

Karnatakg
West Bengal

Andhra Pradesh

Select the correct answer from
the options given below :

(1)

(2)

(3)

(4)

(A) and (B)
(B) and (C)

5
(A) and (C) o2 (3]

All of the above

98. The subject of Panchayati Raj is

in the of the Indian
Constitution.
(1) Concurrent list
(2) Union list
(3) State list
(4) Residual list
/587-B (45)

99.

100.

Which  of the
statements is/are
about Project Nexus?

following
incorrect

(A) Project Nexus is
conceptualised by the
World Bank which seeks to
enhance cross-border
payments by connecting
multiple domestic instant
payment systems globally.

(B) Reserve Bank of India (RBI)
has joined Project Nexus.

(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Which of the following

statements is/are correct?

(A) There is no clear definition
of a ‘climate refugee’, nor
are climate refugees
covered by the 1951

Refugee Convention.

(B) The Global Compact for
Migration 2018 cites
climate as a potential
reason for migration.

(C) India is not party to the
1951 Refugee Convention.

Choose the correct answer from
the options given below :

(1) (A) only
(2) (B) only
(3) (C) only
(4) All (A), (B) and (C)
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